MATHEMATICS PAPER-II

‘ 2017 (A) Roll No:
INTERMEDIATE PART-II (12" CLASS)

GROUP-I SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part number on answer book,

(i)
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)
(ix)

(x)
(xi)

(xii)
(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)

(xi)

(xii)

as given in the question paper.

SECTION-I
Attempt any eight parts. 8§x2=16

If g(x)=—5, find gog(x)

Define Continuous Function.

. X
Evaluate Lim —
=0 tanx

Define Increasing and Decreasing Function.

2
" " 1 T i
Differentiate [wf; - T—] w.rt'x',
x

Find 4 if Y+ x*-4x=5
dx

) ) 3
Differentiate cos™ = w.r.t 'x'.
)

Find%:- if y=sinh”(x)

v P s

Find = if y={n( tanhx)
dx

Find f'(x) if f(x)=n(9-x*)
Find y, if ‘y=fn(l+x)

L WY e 2
Find = if x* -y " -6y=0
nd == i X" =y ¥

Attempt any eight parts. 8x2=16
Find dy if y=x% =1 when x changes from 3 to 3.02.

Evaluate J M dy
¥

1
1+ Cosx

Evaluate I

Evaluate _lla‘:. xdx

Evaluate ]‘ dx

4+ x?

Evaluate the integral jx fnx dx

1

I -
Evaluate I{x-” +1) dx
-1

3

Evaluate
'! x' 49

Find the area above the x —axis and under the curve y=5-x? from x=-1 to x=2

2
Solve ff—: 4

-

€
Indicate the solution region by shading the in-equality 2x + 3y <12

What are Problem Constraints?

P.T.O.

TIME ALLOWED: 2.30 Hours



(M

(i)

(iii)
(iv)
)

(vi)
(vii)

(2)
Attempt any nine parts. 9x2=18
Find the coordinates of the point that divides the join of 4(—6,3) and B(S5, —2) in the ratio
2:3 internally.

The points 4(—5,-2) and B(5, —4) are ends of a diameter of a circle.
Find the centre and radius of the circle.
Find an equation of the line having y —intercept -7 and slope -3.

Find an equation of the line through (5, —8) and perpendicular to the join of
A(-15,-8),8(10,7)

Find the distance from the point P(6, —1) to the line 6x -4y +9=0.
Find an equation of the circle with centre at (5, —2) and radius 4.

Write an equation of the parabola with Focus (-3, 1) and directrix x =3.

(viii) Find an equation of the ellipse having centre at (0, 0), focus (0, —3)and one vertex (0, 4).

(ix)
(x)

(xi)
(xii)

Find an equation of the hyperbola with centre (0, 0) focus (6, 0) vertex (4, 0).
Find a unit vector in the direction of the vector v = 2 + 6 J-
Find &, so that |ai + (ec+1)j + 2k|=3

Find a vector perpendicular to each of the vectors @ =2i + j+k and b=4i+2j -~ k

(xiii) Prove that the vectors i -2 + 3k, —=2i+3j - 4k and i-3j + 5k are coplanar.

SECTION-II

NOTE: - Attempt any three questions. 3x10=30

5.(a) Prove that le =

) If x=a(@+sinf), y=a(l+cos@) thenshowthat y T

a’ -1
= log, a

x =0

L

6.(a) Evaluate I[ R ] e* dx

1 - cosx

(b) Find an equation of the line through the intersection of the lines x + 2y +3 = 0, 3x+4y+7=0
and making equal intercepts on the axes.

7. (a)

(b)

8. (a)
(b)

9.(a)
(b)

3
Evaluate I

2

3xt - 2x +1
(x=1)(x* +1)

Graph the feasible region of the following system of linear inequalities also and find the corner points
2x+3y<18, x+4y<12, 3x+y<l2 xz0, y20

Find an equation of the circle which passes through the points 4(5, 10), B(6,9), C(-2,3)

Using vector method prove that the Altitudes of a triangle are concurrent,

Find the Foci Eccentricity and Vertices of the ellipse 9x* + y* =18
Find volume of the Tetrahedron with vertices (2,1,8), (3,2,9), (2,1,4) and (3,3,10)

14-2017(A)-15000 (MULTAN)



Paper Code 2017 (A) Roll No:

Nicabiis 4191 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1)
2

(3)

(4)

(5)
(6

(7)

(8)

©

(10)

(1)

(12)

(13)
(14)

(15)

(16)

(7

(18)
(19)

(20)

If f(x)= L then f~'(x)= (A) x (B) 1 ()1 (D) Does not exist
X X
x-2
Limit ——— = (A) V2 B) 0 € -2 22
imit == ( (D)
If y =cosx,u =sinx then i:
du
(A) cosx sinx (B) —cotx (C) —tanx (D) —cosecx
d a4 I1—cosx 1
—| tan = Al B) — C) 0 D) -
.-:ix[ (1+c05x)} &) {}2 © ) =
If f(x)=coshx then (£ (x)) -(f'(x)) = (A)1  (B)O0 (C) %- (D) 2?
A function f'(x)>0 thenitis:-
(A) Differential (B) Increasing (C) Decreasing (D) Zero
d _ :
—(a*) = (A) a* (B) a*fna (C) =L (D) a*tna
dx {na
2
J : dx = A) (enx) +¢ (B}—L:fnx+t: (C) tn(fnx)+c {D}M+c
xfnx X 2
IE“'Serzx dx = (A) —e"™ " +¢c (B)e™ " +¢c (C)e™ +c¢ (D)e™ +c¢
[ wZ ®I X o
A+x 6 4 3
The solution of differential equation -g ==y is-
(&) y=e ®) y=cet (O y=¢ D) y =ce*
If a#0 and b#0, then y-interceptoftheline ax + by+ ¢ =0 is:-
b b ‘ ;
(&) = (B) -= © - (D) =
c c b b
The distance of point (-1,3) from x-axisis:- (A -1 B3 ©2 (D) -4
If (3,5) is the mid point of (5, @) and (b, 7) then:-
(A)a=4,b=2 B)a=3,b=3 (C)a=7,b=2 ([Dya=3,b=1

. 1
If £, with slope = and £, with slope 3 then the angle between /£, and £, lines is:-

T T w
(A) % (B) 3 (©) 3 (D) =
(2,1) is in the solution of inequality:-
(A) 2x+y =0 (B) x—y>1 (C) 3x+5y <7 ([D)2x+y=<6
Equation of tangent to the circle x* + y* =4 at (I, J3) s
(A) V3x+y=4 @) BBx-y=4 (©=x-By=4 O)x+By=4
s 2
Length of minor axis of the ellipse — + ;’— =lis- (A) 2 B)a (C)2 (Db
3 7
A unit vector is a vector whose magnitude is:- A0 B)1 (©2 @D -;-
The projection of —2f +3] + 7k on 2j + & is:- (A) ? (B) 143 (C) % (D) 13
5

14(Obj)(TX)-2017(A)-15000 (MULTAN)



" [Paper Code 2017 (A) Roll No:
| 4193 | INTERMEDIATE PART-II (12" CLASS)

' Number:
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

(Q.No.1

(D (2,1) is inthe solution of inequality:-
(A) 2x+ y20 (B) x=y>1 (C) 3x+5y <7 (D) 2x+y=<6
(2)  Equation of tangent to the circle x* + y* =4 at (1,+/3) is:-
(A) 3x+y=4 B)V3x-y=4 (O)x-3y=4 (D) x+By=4
2 2
(3)  Length of minor axis of the ellipse - + f— =lis- (A)2a (B)a (C)2b (Db
A 3
(4) A unit vector is a vector whose magnitude is:- AY0 B)Y1 (© 2 (D) %
- s am oa P 13 13 13 .
(5) The projectionof =2i +37+ 7k on 25+ k is:- (A)— (B)— (C)—= (D)13
5 4 J5
(6) If f(x)= L then f'(x)= (A) x (B) i (Cy1 (D) Does not exist
X x
x=2
) dimil =i (A) V2 (B) 0 C) -2 (D)2V2
S
(8) If y=cosx, u=sinx then ﬂ =
du
(A) cosx sinx (B) —cotx (C) —tanx (D) —cosecx
d —
(9) —[ tan [] m“] } - (A) 1 ®) + (C) 0 (D) -1
dx ] + cosx 2
(10) If f(x)=coshx then (f(x)) - (/" (x)) = Ayl B0 (O % (D) 22
(11) A function f'(x)>0 thenitis:-
(A) Differential (B) Increasing (C) Decreasing (D) Zero
f i
(12)  —(a*)= (A) a” B) a“tna (C)2— (D) a’tna
dx fna
(13) J’ L = (A) (nx) +¢ (B}—Lfnxw (C) fn(fnx)+c (D}M+c
xfnx x? r
(14) Je'““Seczx dx = (A) —e™ +¢c B)e™ +¢c (CO)e™ +¢ (D)e™ +¢
T dx 4 T 3
IS s A v e o ]
(15) _[,1+x~ ) ®) 7 (© 3 D) =
(16)  The solution of differential equation ig ==y is:-
(A) y=e™ (B) y=ce™ (C)y=¢e (D) y=ce’
(17) If a#0 and b =0, then y-—interceptof the line ax + by+ ¢ =0 is:-
b b ¢ ¢
A) — B) -- Q== =
(A) 7 (B) p (C) b (D) b
(18)  The distance of point (=1, 3) from x-axis is:- (A) -1 (B3 @ ©2 (D -4
(19)  If (3,5) isthe mid point of (5, @) and (b, 7) then:-
(A)a=4, b=2 B)a=3,b=3 (Qa=7,b=2 (D a=3,b=1

(20)  If £, with slope —% and £, with slope 3 then the angle between £, and 7, lines is:-
T T . T
(A) — B) = iy Rl
) 3 (B) 3 (C) 5 (D) =
14(0bj)(YeT¥)-2017(A)-15000 (MULTAN)



Paper Code 2017 (A) Roll No:
Number: 4105 | INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED; 30 Minutes

GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that cirele in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

)

o
Il+x’

-

" & & %
= (A) 6 (B) 1 © 3 (D) =

(2)  The solution of differential equation day =-y is-

(A) y=e™ (B) y=ce™ (C) y=¢' (D) y=ce'
(3) If a#0 and b =0, then y-—interceptoftheline ax+ by+ ¢ =0 is:-
b b ¢ ¢
(A) g (B) . (©) 3 (D) 3
(4)  The distance of point (-1, 3) from x-—axisis:- A -1 B3 (Cy2 (D) -4
(5)  If (3,5) is the mid point of (5, @) and (b, 7) then:-
(A)a=4,b=2 (B)a=3, b=3 Ca=7,b=2 (D)ya=3, h=1

(6) If £, withslope _IE and ¢, with slope 3 then the angle between £, and ¢, lines is:-

4 4 4
A) — B) — =
(A) 1 (B) 3 (€ 5 (D) =
(7)  (2,1) isin the solution of inequality:-
(A) 2x+y 20 (B) x=y>1 (C) 3x+5y <7 D) 2x+y<6
(8)  Equation of tangent to the circle x* + y* =4 at (l,ﬁ} is:-
(A) V3x+y=4 B)Bx-y=4 (C)x-3y=4 (D) x+3p=4
2 2
(9)  Length of minor axis of the ellipse x—1+§2—=1 is=  (A)2a (B)a (C) 26 (D)b
a
(10) A unit vector is a vector whose magnitude is:- Ao ®B1 ©2 D L:
2
(11) The projection of —2i +3j + 7k on 2j+k is:- (A) B (B) 13 (C}-l1 (D) 13
5 4 J5
| .
(12) If f(x) =; then f'(x)= (A) x (B}-E_- (C)1 (D) Does not exist
x=2
13)  Limit —=————= = A) V2 -2
(13)  Limit == @V2  ®o © -2 (D22
(14) If y =cosx, u =sinx then E}—- =
H
(A) cosx sinx (B) —cotx (C) —tanx (D) ~cosecx
d g [1=cosx B 1
(15) tﬁ_[tan [l +cosx] J = (A) 1 (B) > (C) 0 (D) -1
(16) If f(x)=coshx then (f(x)) -(/'(x)) = A)1 B0 (O % (D) 2°
(17 Afunction f'(x)>0 thenitis:-
(A) Differential (B) Increasing (C) Decreasing (D) Zero
d’ x
(18)  —=(a")= (A) a* (B) a¥tna (C) 22— (D) a'tna
G Ena
l 2
(19) _[ dx = (A) (¢nx) +e¢ (B) - lzfnx+c (C) £n(fnx)+c {D}MH
xfnx x 3
(2{)} IEIM:SEC:JC dx = (A) —e™E g {B) e™ Lo {C} ™ + o {D} e 4 o

141 ORI T 01 7 AT SO00 (RITIT T A M



Paper Code 2017 (A) Roll No:

4197 | INTERMEDIATE PART-II (12" CLASS)

Number:
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJETHE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice wl:.ich you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles. .
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(N
)

(&)

)

()

(6)

@)

(8)

(&)
(10)

an

(12)

(13)

(14
(13)
(16)
(17)

(18)

(19)

(20)

1
If f(x)=coshx then (f(x)) -(f'(x)) = @1 ®o ©3 M7
A function f'(x)> 0 thenitis:-
(A) Differential (B) Increasing (C) Decreasing (D) Zero
4y (A) o B) a*fna (C) = (D) a*fna
dx fna
1 2 | (:E'mr:)2
j‘ dx = A) (enx) +c B)-—fnx+c (C) én(fnx)+c (D) —+c
xénx x* 2
je"‘“Seczxdr= (A) —e™" +¢ B)e™ +¢c (C)e™*+c¢ (D)e™ +¢
T odx T T 3
= A) = B) ~ C) = D
_[1“2 (A B) % © 3 D) =
The solution of differential equation s - y is:-
(A) y=e™" (B) y=ce” ©C) y=e" (D) y=ce’
If a#0 and b0, then y-intercept of the line ax + by+ ¢ =0 is:-
b
@ 2 ® -2 gy @)
¢ ¢ b b
The distance of point (=1, 3) from x-—axis is:- A) -1 (B3 (2 (D -4
If (3,5) is the mid point of (5, @) and (b, 7) then:-
(A)a=4, b=2 B)a=3,b=3 (C)a=7,b=2 (D)a=3,b=1

. 1 . S
If ¢, with slope =3 and ¢, with slope 3 then the angle between £, and ¢, lines is:-

T 4 T
A) — ~- C) — D

(A) 2 (B) 3 © 5 (D) =

(2,1) isin the solution of inequality:-

(A) 2x+y20 B) x-y>1 (C) Ix+5y <7 @D2x+y=<6
Equation of tangent to the circle x* + y* =4 at (1, V/3) is:-

(A V3x+y=4 B)3ix-y=4 (©C)x-By=4 O x+By=4

F] 2
Length of minor axis of the ellipse iz— . i—’; =] is:- (A) 2a (B)a (C) 20 (D)b
a
A unit vector is a vector whose magnitude is:- ao ®1 ©2 D %
The projection of —2i +3j + 7k on 2j+k is: (A) L (B) L) (C) .55 (D) 13
5 4 J5
If f(x)= —.1_- then f'(x)= (A) x (B) % (C) 1 (D) Does not exist
x—2

Limit ——— = A) V2 B) 0 C) -V2 D22

imit == (&) (B) (© (D)

If y=cosx, u=sinx then & =

du

(A) cosx sinx (B) —cotx (C) ~tanx (D) —cosecx

d 4 f1—cosx 1

—| tan = 1 B) — C) 0 -
dx[ [l + cast J @) ®) 2 © =1

14(0bI I T LY T )-2017(A-15000 (MULTAN)



2017 (A) Roll No:
INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours

GROURI WRICIVE  MAIMUMMARKY )

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8x2=16
(i) Define the term Odd Function and Even function.

(ii)  Find Domain and Range of function g(x)= Jx +1

Jx+a-
Gify ‘Evalige i Jx+a-Ja
X

x =l

F
(iv)  Differentiate w.r.t. x [J_ o J

Ix
(v) Find % if y=qx+ Jx

(vi) Find f'(x) if f(x)=e"""

(vii) What is a Stationary Point?

(viii) Differentiate x> +2x? +3 wrl x .
(ix)  Find % if ' =2x" +x'y+3x=0
(x)  Differentiate Sin’x w.rt Cos’x

(xi) Find i—*" if y=tanhx’

X

(xii)  Find the first two derivatives of Cos(ax + b)
3. Attempt any eight parts. 8x2=16
(i) Using differential find -j—i if xp+x=4

(i)  Evaluate ‘[x(\f:r-+l)dx

(i)  Evaluate I l - cos2x dx.

(iv)  Evaluate Icnsx[ if”_smx} dx
sin x

(v) Find Ixcas x dx

(vi)  Evaluate I Inxdx

! |
(vii) Evaluate J.[xi + I)dx

(viii) Solve the differential equation xdy + y(x -1)dx =0

(ix)  Find the area below the curve y = 3/x and above the x —axisbetween x=1and x=4.

o
(x) Evaluate fCG&'." dr

A
(xi)  Define Objective Function.

(xii)  Graph the solution region of 2x + 3y <12
P.T.O.



(2)
4. Attempt any nine parts, 9x2=18

(i) Find the slope and inclination of the line joining the points (4, 6), (4, 8).

(ii) Find equation of the line bisecting the first and third quadrants.

(iii)  Convert 2x — 4y + 11 =0 in slope intercept form.

(iv)  Check whether the lines are concurrent. x+3y-2=0, 2x-y+4=0, x-1ly+14=0

(v)  Find measure of angle of the lines represented by the equation 3x* + 7xy + 2y* =0
(vi) Find equation of circle with centre (5, —2) and radius 4.

(vii)  Find the directrix of the parabola y® = 8x

(viii)  Find equation of ellipse having Foci (43, 0) and minor axis of length 10.

{ix) Find an equation of hyperbola having Foci (0, £6) and e = 2.

(x) State Parallel Vectors.

(xi)  Find the unit vector in the direction of vector v = [3. - 4]

(xi1)  Define Vector product of two Vectors.

(xiil)) Find constant & such that the vectors i — 2 & J - k, i- e 2k and ai - Eif + k are

coplanar.

SECTION-II
NOTE: - Attempt any three questions. 3 x 10=30
3x if x<-2
5a) If f(x)=4x*=1if -2<x<2 discuss continuity at x =2

3 if ez

(b) If y=tan(ptan'x) show that (] + x? )y, - p(l + y? )= 0

6.(a) Evaluate j.,,l'xz -a® dx

(b) Find equation of line through the point (2, -9) and intersection of lines 2x + 5y —8 =0 and

Ix—4y-6=0

7
7. (a) Evaluate I{I +Cos*@)tan’ 0 d O
o

(b) Minimize = =2x + y subject to constraints x + y =3, 7x+ 5y <35 x20, y20

8.(a) Find an equation of the parabola whose focusis F (-3, 4) and directrixis 3x -4y +5=0

(b) Prove that in any triangle ABC b* =¢* + a® — 2caCosB; by Vector Method.

9.(a) Find the points of intersection of the conics 3x° + Sy’ =60 and 9x* + y* =124

(b) Find the area of the triangle with vertices A(l, -1, 1), B(2,1,-1) and C(-1, 1, 2)by using Vectors.

16-2017(A)-3000 (MULTAN)



"Paper Code 2017 (A) Roll No:

" | Number: 4192 | INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
h

(2)

(4)

(5)
(6)

(7)

(8)

(9)

(10)

(11)
(12)

(13)

(14)
(15)

(16)

(17)
(18)

(19)

(20)

x=at*, y=2al are parametric equations of a:-

(A) Circle (B) Ellipse (C) Parabola (D) Hyperbola
n

Lim [ | + l] = (A) e (B) e’ (C) e (D) ¢’
n n

d [a . . 1 a a a
— | — | (where a is constant) is:- (A) — (B) -—— (C) — (D) i
dr\ x X : 4 x" x

J’ ) X _ ’-r o =X

£ sinhx = (A) e (B) AR (C) e’ —e™ (D)e* +e™
dx 2

If y=e then y, = (A) ¢ (B) 2™ (C) xe™ ™' (D) de™
_‘f_ fley) _
oy [a ]_

v flz)
(A) f'(x)a’™ tna  (B) f'(x)a’""  (C) _,[_%_}a_ (D) a” " tna
’nar
—d-;{—(:asec.r} = (A) Cor"x  (B) Cosecx Cotx (C) Cotx (D) Tanx Secx
o P v D ¢ 1

jS;‘umex dx = (A) Sinx+c¢ (B) L”: Tre () SIZ Xie (D) [ Sj;x] +c
J‘e" (Cosx + Sinx ) dx =
(A) —e*Sinx + ¢ (B) e *Cosx + ¢ (C) e”"Sinx + ¢ (D) e"Sinx + ¢

i dx ' "

Lﬂj - A -7 BT (©)-7 (D) %,

. L . d'y dy .

[he degree of the differential equation Fey + == 3x=01s- (A)1 (B)2 (C)0 (D)3

- X

A linear equation in two variables represents:-

(A) Circle (B) Ellipse (C) Parabola (D)) Straight line

The slope of the line through the points (-2, 4) and (5,11} is:- (A) -1 (B)0 (O)1 (D)2
Slope of aline 3x = 2y + 5 =0 is:- (A) 33— (B) -—§- (C) % (D) —%

=

The perpendicular distance of the line 3x + 4y + 10 =0 from (0, 0) is:-

(A)0 (B) 1 (C)2 (D)3

2x + 3y <5 is satisfied by:- (A)(LLy (B)(L2) (©(23) @OLD

The length of the diameter of circle x* + y* —6x +8y =0 is:- (A)4 (B)10 (C)13 (D) 12
The mid point of the line segment joining the foci of an ellipse is called:-
(A) Vertex (B) Centre (C) Directrix (D) Minor axis

The angle between the vectors 2/ =3/ + k and 2i— j -k is:-

(A) T (B) 7/, © 7 (D) =

Projectionof a=i-k along b= j+k is:-
1 1 1
(A) —— L £y -2 D) —
7 (B) B (C) 75 D) 3
16(0bj)(¥X)-2017(A)-3000 (MULTAN)



[ Paper Code | 2017 (A) Roll No:
' 4194 | INTERMEDIATE PART-II (12" CLASS)

| Number:
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I1 OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

().No.l
(1) 2x+3y<3 issatisfied by:- (A (L) B (L2 ©(23) D=L

(2)  The length of the diameter of cirele x* + y* —6x+8y=0 is- (A)4 (B)10 (C)13 (D)12

(3)  The mid point of the line segment joining the foci of an ellipse is called:-
(A) Vertex (B) Centre (C) Directrix (D) Minor axis

(4)  The angle between the vectors 2/ -3/ + k and 2i - j - ko is:-

A % ®) %, © 7 ©) 7

(5) Projectionof a=i-k along b=j+k is-

1 I 3 1
&) v B) — (6 == D) —
(A) 7 ( }\E 5 ( }2
(6) x=ar’, y=_2ar are parametric equations of a:-
(A) Circle (B) Ellipse (C) Parabola (D) Hyperbola
@ Lim [ 1+ ]] . A) ¢ Be' ©e? D¢
P =8 ?f
(8) -"'3'—[3) (where a isconstant) is:-~ (A)—  (B)-Z (©) 2 ) Pt
dx \ x X x X x>
(9) %sinhx= (A) £ '; B) & “’;_ (C) e* == (D) &* +e™*
(10) If y=e™ then y, = (A) ¥~ (B) 2¢* (C) xe*™' (D) de™
(11) %(u“”):
" fix)
(A) f(x)a’"™ fna (B) f'(x)a’"? (O) f_{ﬁ_}a_ (D) a”*tna
LR
(12) %{_Cgsﬂx] = (A) Cot*x (B) Cosecx Cotx (C) Cotx (D) Tanx Secx
V2 . 2 ! 2
(13) Iﬁ'inxﬂ‘osx dx = (A) Sinx+c¢  (B) 5";—" +e (C) S”; X+c (D) [ S“;“‘} e
(14) Ie"{{.’asx + Sinx ) dx =
(A) —e"Sinx + ¢ (B) e*Cosx + ¢ (C) e*Sinx + ¢ (D) e*Sinx + ¢
[ dx
a5 |- ® -% ®Y ©-% O,
o
: i . dy dv . , . .
(16)  The degree of the differential equation P 3 L 0is- (A)1 (Byz2 (©)0 (D)3
X X

(17) A linear equation in two variables represents:-
(A) Circle (B) Ellipse (C) Parabola (D) Straight line

(18)  The slope of the line through the points (=2, 4) and (5,11)is:- (A) -1 (B)0 (O)1 (D)2
(19) Slopeofaline 3x -2y +5=10 is:- (A) % (B) —% (© % (D) o
3 2

(20)  The perpendicular distance of the line 3x + 4y + 10 =0 from (0, 0) is:-
(A)0 (B) 1 (C)2 (D)3
16(Obj)( WX ¥X)-2017(A)-3000 (MULTAN)
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‘Paper Code 2017 (A) Roll No:

! : T
vk 4106 | INTERMEBIATE PART.M (12® cLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

.No.1
(1

(2)

(3)

4)

(3)
(6)

(7

(8)

(9)

(10)

(11)

(12)

(13)

(14)
(15)

(16)
(17)
(18)

(19)

(20)

x=at’*, y=2al are parametric equations of a:-

(A) Circle (B) Ellipse (C) Parabola (D) Hyperbola
n ]

Lim [1 ; l] - W ®e' ©ekE e
- = n
£ [ E] (where a isconstant)is=  (A)~  B)-2 (C) - 13 ]
de \ x x x x 3

! i X _ -x K o 3

é;smhx= (A) £ 2""’ B) L2l (C)ef - (D) e s
If y=e® then y, = (A) €' (B) 2¢* (C) xe*' (D) de**
d a_f{:l]=
dx

@) (e s B) S (o LDET
na

(D) a’"¢na

do .
-&(—Eosmx} = (A) Cot’x  (B) Cosecx Cot x (C) Corx (D) Tanx Secx
2 ;3 S

IS."nxCo.ix dx = (A) Sinx + ¢ (B) Cﬂ; “te (C) SI; 2 e (D) [ém_:r] +c
Ie‘ (Cosx + Sinx ) dx =
(A) —e*Sinx + ¢ (B) e "Cosx + ¢ (C) e*Sinx + ¢ (D) e*Sinx + ¢
|

dx

= _Z -
l s W -7 ®Y ©-% o7
d’y _ dy

The degree of the differential equation EE-—PE--JJ::'D - (A)1 (B)Y2 (C)0 (D)3
x

A linear equation in two variables represents:-

(A) Circle (B) Ellipse (C) Parabola (D) Straight line

The slope of the line through the points (-2, 4) and (5, 1 is- (A) -1 (B)0 (O)1 (D)2
Slopeofaline 3x — 2y + 5 =0 is:- (A) % (B) —% (©) - (D) —lt'-

The perpendicular distance of the line 3x + 4y + 10 = 0 from (0,0) is?— .

(A)0 (B) 1 (C)2 (D)3

2x +3y <5 is satisfied by:- ALY B)(L2) ©(23) (O (-L1)

The length of the diameter of circle x* + y* ~ 6x + 8y =0 is:- (A4 (B)10 (C)13 MD)y12

The mid point of the line segment joining the foci of an ellipse is called:-
(A) Vertex (B) Centre (C) Directrix (D) Minor axis

The angle between the vectors 2i —3j + k and 2i— j -k is:-

*) 7% B) 7, © % D) 7

Projectionof a=i-k along b= j+k is:-

Y ey (B) —

V2

3 1
= g ol
W2 ”ﬁ (D}z

16(0b)(Pe W TX)-2017(A)-3000 (MULTAN)
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Paper Code 2017 (A) Roll No:

* INumber: 4198 INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

(Q.No.1
d
] sl Fix) =
m 2 (a)
- fix})
(A) f'(x)a’™ ¢na B) f'(x)a’™ (C) -’f—(-{-;%f?-— (D) a’¢na
(2) ;jf—(—(.‘ﬂSECI} = (A) Cot*’x (B) Cosecx Cof x (C) Cotx (D) Tanx Secx
X
(3) J.Sr’nxﬂ'ﬂs'x dx = (A) Sinx+c  (B) C‘};‘ﬁ +e (C) S”:I D) [ S‘—;’i) iz
= <
“ Je* (Cosx + Sinx ) dx =
(A) —e'Sinx + ¢ (B) e "Cosx + ¢ (C)e*Sinx+c¢ (D) eSinx +¢
]
! dx
® [F- W -7 ®Y ©-% O
[
_ g . . d’y dy ; .
(6) The degree of the differential equation F + o 3x=01s:- (A)1 (B)2 (©0 (D)3
X X
(7) A linear equation in two variables represents:-
(A) Circle (B) Ellipse (C) Parabola (D) Straight line
(8) The slope of the line through the points (-2, 4) and (5,11) is:-  (A) — 1 (B0 (C1 (D)2
(9 Slope of aline 3x — 2y + 5 =0 is:- (A) —32- (B) —-3% (C) % (D) —1;-
(10)  The perpendicular distance of the line 3x + 4y + 10 =0 from (0, 0) is:-
(A)O (B)1 (C)2 (D)3
(11)  2x+3y <35 issatisfied by:- A) (LT B)(L2) (©)(2,3) M(-LD

(12)  The length of the diameter of circle x* + y* - 6x+8y=0 is-  (A)4 (B)10 (O)13 (D) 12

(13)  The mid point of the line segment joining the foci of an ellipse is called:-
(A) Vertex (B) Centre (C) Directrix (D) Minor axis

(14)  The angle between the vectors 2i - 3j+k and 2i - J-k is-

(A) %% B) %, (© 7 (D) x

(15) Projectionof a=i-k along b= j+k is-

1 | 3 1
(A ey (B) —= (C) = D) -
(16) x=ar’, y=2at are parametric equations of a:-
(A) Circle (B) Ellipse (C) Parabola (D) Hyperbola
(17) er[|+1] = Ay e B)e' ©e” e
LR n
d(a . . 1 a a .a
(18) — | = | (where a is constant) is:- (A) — (B) —— (C) — (D) ——
de \ x x x x? x?
(19) _d.sinhx = (A) i gy & te” C) e* —p- ¥y o=
= = (J——2 (C) e —e (D) e” +e
(200 If y=e* then y, = (A) e™"' (B) 2™ (C) xe*~' (D) 4e™

16(0bj)(W WY IX)-2017(A)-3000 (MULTAN)
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